Electric Pole Saw UT43160 - General Assembly

HOMELITE ELECTRIC POLE SAW

MODEL NO. UT43160 - ALL VERSIONS

The model number will be found on a label attached to the motor housing. Always mention the model number
in all correspondence regarding your ELECTRIC POLE SAW or when ordering replacement parts.

SEE NOTE

SECTION “A”




Ref# Part# Description Qty Context Note

1 901289001 Chain 1

2 3290875G Retaining Ring 1

3 33302102G Washer 1

4 33902102G Sprocket 1

5 31306152G Oil Cap 1

6 32901152G Hex Nut (M6) 1

7 31308152G  Chain Cover Assembly 1

8 310605001 Bar 1

9 31307152G Chain Adjustment Assembly 1
34161152G Scabbard 1 Not Shown
987000228 Operator's Manual 1 Not Shown



Electric Pole Saw UT43160 - Section "A"

HOMELITE ELECTRIC POLE SAW - MODEL NUMBER UT43160 - ALL VERSIONS

SECTION “A” +*. b

Section “A" represents an important part of the double insulated system of this tool. Any repair to this tool
requires dielectric testing to IWOMW with company requirements.




Ref #
1

O 0 3 O L B W N

(U TR NG TR NG T NG T NG TR NG T NG T NG T NG T N N N T S e T T ST
S O 0 N0 N N kWD = O O 0NN R WD~ O

Part # Description
31305163G Power Cord
31309152G Pole Assembly
31302152G Handle Assembly
3410801G Cord Clamp
3220905G Screw (M4 x 12 mm)
33402161G Compression Spring
34110152G Lock-off Button
32907152G Lock Nut (M6)
34204152G Rubber Pad
31311152G Motor Assembly
31314152G Oil Tank Assembly
33203152G Bar Stud (1/4-28)
38103152BG Data Label (English)
32906152G Screw (M6 x 32 mm)
36901152G Brush Assembly
31313152G Oil Pump Assembly
33205152G Pinion
32918152G Retaining Ring
36303152G Switch
3220106G Screw (M4 x 18 mm)
34118152G Trigger
31301152G Housing Assembly
31303152G ~ Output Shaft Assembly
31310152G  Spring Cord Assembly
38104152G Warning Label
38105152BG Data Label (French/Spanish)
38102152G Logo Label (Left)
38101152G Logo Label (Right)
32207152G Screw (M3 x 4 mm)
33302163AG Lock Spring

Qty

—_— = = = NN = = = = NN = NN W s

H
N

RO DD — = = e e e e e

Context Note

(Incl. Key Nos. 25-26)



Electric Pole Saw UT43160 - Wiring Diagram

HOMELITE ELECTRIC POLE SAW - MODEL NUMBER UT43160 - ALL VERSIONS

WIRE NUT WHITE

— /WHITE \m

WHITE

BLACK BLACK

SWITCH

WIRING DIAGRAM

Rendered by LeadVenture, Inc






